
                            DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE – 500 

To the Post of Assistant Director in A.P Economics and Statistical Service Notfn No.28/16   Subject  in GS & MA 
Question ID Gist of the Question  Answer as  per 

key  
Answer as per 
Candidates 

Gist of Objection  Decision of  the Commission 

5799654545 The jurisdiction of a High 
Court under article 226 
cannot be invoked if? 

3 2 Other than 
fundamental rights 
also, writ lies under 
Article 226 

The correct answer is 4 

5799654573 Tungabhadra Project is a 
common Project?  

3 1 Telanagana is also a 
party 

The correct answer is 1 

5799654667 If Telugu is for Andhra 
Pradesh, then Dogri is to 

2 1 & 2 Dogri is spoken in 
Himachal Pradesh 

The correct answer is 1 & 2 

5799654675 Find the mode of the data? 3 0 There is no correct 
answer as the shirt size 
has to be taken 

The question is Deleted 

 

 sd/- 

                                                                                                                                                                                                                                       Secretary 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

                              DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE – 640 

To the Post of Assistant Director in A.P Economics and Statistical Service Notfn No.28/16   Subject  in ECONOMICS  
Question ID Gist of the Question  Answer as  per 

key  
Answer as per 
Candidates 

Gist of Objection  Decision of  the Commission 

5799655004 Real Business Cycle 1 2  The correct answer is 2 

5799655018 Club Goods 1 2  The correct answer is 2 

5799655020 First Population Census in 
India 

2 3  The correct answer is 3 

5799655031 Indian Railways Network 3 4 & 1  The correct answer is 1 

5799655082 Utility Function 2 1  The correct answer is 1 

5799655089 Central Assistance 2 1  The correct answer is 1 

5799655093 Implicit National Income 
Deflator 

1 3  The correct answer is 3 

5799655102 Component of Foreign 
Exchange Reserves 

3 1  The correct answer is 3 & 2 

5799655107 Base year of CPI - IW 1 3  The question is Deleted 

5799655110 State with lowest Female 
Literacy Rate 

1 4  The correct answer is 4 

5799655130 Number of Members in 
Family 

3 4  The correct answer is 3 & 4 

 

 sd/- 

                                                                                                                                                                                                                                       Secretary 

 

 

 

 

 

 

 



                                   DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE – 642 

To the Post of Assistant Director in A.P Economics and Statistical Service Notfn No.28/16  Subject  in STATISTICS 
Question ID Gist of the Question  Answer as  per 

key  
Answer as per 
Candidates 

Gist of Objection  Decision of  the Commission 

5799654684 Method of data collection in 
case rail accidents 

2 4  The correct answer is 4 

5799654688 Finding E (X) and E (Y) from 
two lines of repression Yon X 
and X on Y 

2 None  The question is deleted 

5799654689 Mean deviation about the 
median of normal   

3 2  The correct answer is 2 

5799654704 When P = 0.5,the binomial 
distribution is 

1 2  The correct answer is 2 

5799654715 If ‘K’ effects are confounded 2 3  The correct answer is 3 

5799654729 The class frequency of 4 2  The question is deleted 

5799654730 If all A’s are B’s, 3 None  The question is deleted 

5799654731 With three attributes 1 None  The question is  deleted 

5799654737 The Kolmogorov – Smirnov 
test statistic D7 is  

2 None  The question is deleted  

5799654740 Then the attributes A and B 
are 

2 None  The question is deleted 

5799654745 N (µ, ᴑ2) when µ is known  3 1,2 & 3  The correct answer is 1,2 & 3 

5799654762 The second movement  of 
Poisson 

2 None  The question is deleted 

5799654764 E(Y) =2 and v(Y) = 3, the 
value of xp is  

1 None   The question is deleted 

5799654769 For a distribution function of 
random 

3 4  The correct answer is 4 

5799654774 The points of inflexion of t- 
distribution are 

1 4  The correct answer is 4 

5799654778 To have maximum  one has 
to choose 

3 None  The question is deleted 



5799654787 Estimate of standard error  2 None  The question is deleted 

5799654794 The frequency of class 20-30 
in the following data 

2 3  The correct answer is 3 

5799654795 ‘STUB’ of table is ---part of 
the table describing the  

2 4  The correct answer is 4 

5799654810 Standard deviation of α in 
the model y  

3 4  The correct answer is 4 

5799654817 Coefficient of alienation is 3 4  The question is deleted 

5799654821 If T1 and T2 are two 
unbiased estimators 

3 None  The question is deleted 

5799654827 If Φ [t] denotes the 
characteristic function 

3 None  The question is deleted 

5799654830 The following is the ANOVA 
table 

3 4  The correct answer is 2 

 

 sd/- 

                                                                                                                                                                                                                                       Secretary 

 



                                        DECISION OF COMMISSION ON OBJECTIONS ON QUESTIONS OF PAPER CODE – 643 

To the Post of Assistant Director in A.P Economics and Statistical Service Notfn No.28/16  Subject  in COMPUTER SCIENCE 
Question ID Gist of the Question  Answer as  per 

key  
Answer as per 
Candidates 

Gist of Objection  Decision of  the Commission 

5799655160 Canonical cover for this set 
is ? 

2 4  The correct answer is 4 

5799655180 Overloading unary friend 
function  

1 1  The correct answer is 2 

5799655200 Trap interrupt mechanism of 
8085 

1 None  The correct answer is 2 

5799655203 Universal gate 4 3  The correct answer is 3 

5799655219 Binary search tree is  4 1  The correct answer is 1 

5799655221 Fully associative cache with 
8 cache blocks 

2 1  The correct answer is 1 

5799655222 Hash function X mod  4 1  The correct answer is 1 

5799655244 Processing the expression  2 1  The correct answer is 1 

5799655249 Process schedulers  4 None  The question deleted 
 

 sd/- 

                                                                                                                                                                                                                                       Secretary 



 


